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No. 1 2 3 4 a8it HIE
E F A WTFQ WTFQ WTFQ WTFQ WTFQ g sz
1 MNEFE K sokokok Skokokok dokolok okl dokkk 20 1 P
3 1EfE = solokk Fokokk okl Fokokok * 17 3P
4 t#EHE T K% K kkkk k k% k% k kkk 16 4 P
5 fa EH * 1 10
6 #ilF BFZ * 1 10
8 Bk ZEE sokk Kkokk Kkl kokkk kokkk 20 1 P
9 KH B sokokok Fokok x*x 10 6P
10 k% & * * *kkk 6 9
"M AE & * sk skokokok kkkk kkkk 15 5 P
12 88l & * K kk ook 7 7
13 #FE S& 0 12
14 B #®E ok % Kk Kk 7 7
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sordordork [ R B ] kekokkokk

NO. E F 4 1 2 3 4 5 JEfL
i B Waltz
1 NEFE /WK 2 1 1 2 1 1.0
3 {EBk M= 4 3 2 4 5 4.0
4 tHHE A 6 4 4 5 4 50
8 Tk BKE 1 5 3 3 2 20
9 HHE k% 3 6 5 6 6 6.0
1M1 A% & 5 2 6 1 3 3.0
i B Tango
1 INEFE /K 2 3 1 2 2 1.0
3 {EBk M= 4 5 2 4 5 50
4 tEHE A 6 1 4 6 4 40
8 Tk BKE 1 4 3 3 3 3.0
9 HHE k% 5 6 5 5 6 6.0
1M A% & 3 2 6 1 1 20
E B Fox trot
1 INEFE /WK 2 2 1 2 2 20
3 {EBk M= 4 4 3 3 4 4.0
4 tEHE A 5 5 5 5 5 50
8 Ik BKE 1 3 2 4 3 3.0
9 HHE k% 3 6 6 6 6 6.0
1M A% & 6 1 4 1 1 1.0
7 B Quick step
1 NEFE /WK 1 1 1 2 2 1.0
3 {EBk M= 4 5 3 3 4 4.0
4 tEHE A 6 4 5 5 5 50
8 Tk BKE 2 3 2 4 3 3.0
9 HHE k% 3 6 6 6 6 6.0
1M A% & 5 2 4 1 1 20
i B V.waltz
1 INEFE /WK 1 2 1 2 3 1.0
3 kR M= 4 1 3 3 5 4.0
4 tEHE A 6 5 4 6 4 6.0
8 Tk BKE 3 4 2 4 2 3.0
9 HHE k% 2 6 5 5 6 50
1M1 A% & 5 3 6 1 1 20
No. E F W T F Q@ V &t gk
1 MEFE BKX 1.0 1.0 2.0 1.0 1.0 6. 1.0
3 k% M 40 50 40 40 40 21.0 4.0
4 FEHE A 50 4.0 5.0 5.0 6.0 25.0 5.0
8 Ik KB 2.0 3.0 3.0 3.0 3.0 140 3.0
9 HHE 6.0 6.0 6.0 6.0 5.0 29.0 6.0
11 A% B 3.0 20 1.0 2.0 2.0 10.0 2.0
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1 01040063 A /NEFZE IGK FiER ?ﬁ%
2 01020019 C WA HX WA LA
3 01040031 A {EfE FO= BN HIF
4 01040012 A #H =& FIER  JF
5 01060024 C #& U AR ME
6 01030017 A i B— @K EW
7 01040024 C FRLLZE #=|dh BAltE 8%
8 01020013 A Z5iE IXEE El =X
9 01060003 A EH B B, BF
10 01040041 B K% A& K% BE
11 01040036 A AFE & B #BF
12 01040035 A #F)I] & =Bk EF
13 01040069 D #E=Z2 &BE WA FEF
14 01030023 B B #ZF WE HBE=E
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